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QUESTION 1

Node 1 and Node 2 are directly connected running LDP. The system ip address of Node 2 is 10.10.10.1.2. Based on the
following display, why is the sdp down? 

A. Local SDP id does not match with the remote sdp id. 

B. Far End IP address is not reachable. 

C. Keepalive has to be enable on the SDP. 

D. LDP is not enable on the remote node\\'s interface. 

E. Targeted LDP session is disabled on the remote node. 

Correct Answer: A 

 

QUESTION 2

L1 ISIS adjacency is up between two routers (Node-1 and Node-2) with MD5 authentication configured. During a
maintenance window, an operator was planning to change one of the ISIS hello authentication key from admin to
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admin123. After removing the hello authentication key from Node-1 (no change on Node-2 side), the ISIS adjacency
stayed up. The operator decided to fall back to the original configuration and called Alcatel for support. Which of the
following statement best describe the cause of the problem? Select one answer only. 

A. The ISIS hello authentication key was not configured properly in the first place, that\\'s why removing the
authentication key does not impact the adjacency 

B. The ISIS authentication key is the same as the hello authentication key, therefore removing hello authentication key
does not impact the adjacency 

C. The system interface is missing from the ISIS configuration, therefore ISIS is not working properly even before the
change 

D. ISIS hello authentication key is only used for hello packet exchange. It does not affect ISIS adjacency 

E. ISIS hello authentication key is not used to bring up ISIS adjacency when traffic-engineering is enabled on the
routers 

Correct Answer: B 

 

QUESTION 3

Which one of the following routes should be the best BGP route according to the Alcatel VPRN route selection criteria? 
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A. The 1st route 

B. The 2nd route 

C. The 3rd route 

D. The 4th route 

E. Node of the above 

Correct Answer: D 

 

QUESTION 4

VPRN 300 is confiugred on Node 3 and Node 4 with LDP as the transport. No VPN routes are exchanged between
Node 3 and Node 4. What is the cause of the problem? 
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A. VRF policy configured on Node 3 does not match with vrf-target configured on Node 4 

B. No SDP defined in the VPRN configuration on both nodes 

C. VRF-target mismatch on Node 3 and Node 4 

D. Route-distinguisher mismatch on Node 3 and Node 4 

E. Encapsulation type mismatch on SAPs on Node 3 and Node 4 

Correct Answer: A 

 

QUESTION 5

Which command can be used to view all interfaces configured under VPRN 300? 

A. Show router interfaces 

B. Show router interface vprn 300 

C. Show router 300 interfaces 

D. Show service vprn 300 interfaces 

E. Show service id 300 interfaces 
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Correct Answer: C 
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